Note:

Only turn back to page number if you have difficulty

Q1.

Solve these equations:

(a) 7+3x=9
(d) 16 —5x=20
(g) 18a+57=-21

Solve these equations:

(@-5x+30=2-12x

(d) 18x—46=6x+4
(9) 7+32x=35¢x-2

Solve these equations:

(a) 5(4a+1)=25
(d) 9(15-8x) =171

(b) 19 — 5y = 44
(€) Tm+23=2
(h) 15y -32 =61

() 3x+72=14-9x
() 9+ 10x=15x+7
(h) 7x+39=12 +4x

® T(@-2)=5
(e) 2(10 —3y) =56

© 7-2a=13
€ 25+ 12y=—-2
(i) 13 —5x =48

(€ 2x+10=Tx—-11
fH S5-6x=5x+16
G) 3x—2=8+15x

(©) 3(7h—2)=—69
£ 6(5x—14) =66

(8) 56m-32)=-60 (h) 4(16-9a)=220 (1) 83y +20) =40

Solve these equations by first expanding both sides:

(2) 3(2x — 3) = 9(dx — 21) (b) 3(3x +4) = 3(2x - 5)
©) 5(2y—3)=2@3y + 1) (d) 2(x—3)=4(3x - 1)

(©) 102m + 1) = 6(3m + 4) () 7(5—3b) =8(2b-5)
() 309x—-2)=503x+7) (h) 12(8 — 5a) = 5(8a + 12)

Solve these equations:
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Find the value of x in the following figures:

(a) (b)

(8) 4 (@ %+11=29 @ 4
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(7x +8)° (4x + 15)° 2x+ 15)°
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(Ox —24)°
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(5x-8)cm

Perimeter = T T
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Perimeter = 38 cm
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Q3.
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Q5.
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(8 x=-~4
® x=-1
@ a=1
® x=5

(@) x=6
1

® b=2—

37

(2) m=4

® z=32
3

(@ x=16
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CANSWERS )
®) y=-5 © a=-3
1
@a=-4z @ y=l
5.
5 ”
®x=-4> () x=4l
5
(@ x=3 ® x=-9
5
(b)'a=2; (c) b=-3
® m=4 0) a=—41
3
®) x=-9 © y=42
5
(@ x=32 =2
12 ®) a 25
1
) m=2— © m==2
® x=2 h) x=8

@ x=—2
5
@ x=-7
(d) x=4-1
6
M x=-2
6
@ x=—1
2
@ y=-5
@ x=-1
:
@ x=-7
@ x=-1
@ x=52
. 5

®) x=25 (¢) x=20 d x= 29i (e) x=4
19

(& x= ~—2l
4

1

® x=— "
2




